SIA30l A& B Exam#1 V1

NAME: __ (Omamtn Ku?,

Directions: Be sure to show all of your work. An answer alone will not recejve any credit. You must show
a formula or how you arrived at your answer. Partial credit will be given on all problems.
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**1. True/False questions.

@ F  “a. The Median and Trimmed Average are both robust measures of location.
 § @ °b. A population is only a set of numeric measurements.

@ F  “c. To be useful about making conclusions about the population, a sample should be
representative of the population.

@ 5k symmetric distribution would never have outliers.
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e. Therange and IQR are both robust measures of spread.

*f. Normal distributions are always symmetric.

@ ’g.  Symmetric distributions are always Normal.
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@ *h. Sample spaces are a list of possible outcomes from ang experiment.

'>2. Use the figure below about drunk-driving crashes from the Cincinnati Enquirer to answer the True/False
questions below.
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skewed left. Median age of a drunken driver involved in a crash was S 29. The curve peaked at 21.
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>3.  For the weekly rainfall data in SW Ohio seen in a later problem, the variance of weekly total rainfalls is
approximately 1.2030. For an observatlon !.'0 be declared an outlier, how far away from the average would it
5 need to be?
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STA 301 A&B Exam#1 VI
s 3 Weekly rainfalls in SW Ohio have varied quite a bit this year. Below are the weekly (Sunday thru Saturday)
rainfall totals for the Dayton, Ohio NOAA site; use this information to answer the questions that follow.
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March | 2.55 | U223 276 | 1.05
April | 0.44 | 097 | 0.16 | 1.17
May 148 | 3.07 | 0.24 | 0.41
June 309 1 ¥ 0.1 | 135
July 1.08 | 2.73 | 0.10 | 2.04 | 0.00 (oF
August | 1.40 | 0.01 | 0.00 | 0.24
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c. What TWO facts about your 5# summary clearly illustrate this distribution is not normal? .05,
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>d. To summarize the center of this distribution of rainfall amounts, would you use the average or median?
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e. Using the upper fence, are there any outliers on the upper end of the dlstrlbutlon‘?

46{4\14' - Q2+ 1.5(Tak) = 0, +1.5(Qs-Q) = 126 +1. s(1.7e-0.95)
76 +1.5 (15650) = 136 +2.2475 = 4.1075
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5. Below are the boxplots of the weights of samples of different species of fish. Use this information and circle
the most appropriate answer from the possibilities given below each statement.

’a. The Parkki species distribution is one of the distributions
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the trimmed avg of the Parkki species.
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> summary (STA301ExamlS$SExaml)
Min. 1lst Qu. Median Mean 3rd Qu. Max.
51.00 #i P 86.00 83.49 92.50 99.00

> sd(STA301Examl$Examl)

(11 -33.98)Y71
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